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From the time until the time - nyb NYn

Overview'

The 71wn taught that if the Mo that he was relying on for n"17n were gone, he
needs to concerned for a 9"vn (twenty-four hours), as the X3 explains. nsoIN
addresses a difficulty here.
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In 7171 noon the X3 asks, what is the reason that the 3321 set this time of a »''y»
by a 771 -

ndOIN asks:
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And it is astounding; for here (too) what is the reason why they chose a 5"vn?

Mmo0IN answers:
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And one can say that only there the X713 asked for a reason, since a woman
senses in herself when she sees 07, so rightfully the ruling should be that ;7

Nnyw as "R»w ruled -
19975 “n1paY ATPON MOIPY *NDIPNIY 1939 13 AN

And if the 3329 wanted to punish her, they should punish her 77°ps% 77°po% as

%957 ruled; why a "yn? This explains why the X3 there asks this question. However here
there is no question, for we do not have another option which is preferable over a "y».’

Summary
There is no reason here why it should not be a "v»

' See ‘Overview’ to previous mxaa 71"7 MO0,
> When a woman sees 07 (she has her ‘period’); she is ¥nv from that moment on, according to >xnw. However %71
maintains she is X1v retroactively up to the last time she checked herself and was not bleeding. The 1127 say she is
Xnu at most for a 2"vn prior to her seeing 07. The X1 discusses there the reason for this ruling.
? mooin is asking why here the X3 did not discuss the reason for the ruling of 5", just as the X3 discussed this
regarding a 1i71.
4 =nyw 7°7; her time (of seeing) is sufficient; there is no need to make her ¥1o1n? Xav, because presumably if she was
Xnw before she would have sensed it.
> See the X3 there that the 0°om were 1707 that a woman should check herself twice day, and this woman since she
did not do it, they made her nxnv for a 2"vn.
6 a1poY A1pon; from one checking to the current checking. She is ¥ axnv until the time she knows that she
checked herself and she was 7770.
7 See ‘Thinking it over’.
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Thinking it over
Why should we not give him a 01p that it should be considered o°712X, up to the last

time he checked that they were there (like 7797 77°p50)?
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